PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

6th August 2016, 03:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

India’s first Nobel prize for Physics was claimed in 1930 by ./ HIRd ¥ Ugd Hifasl & fore CIEG YREPR il
_ +1930 ¥ grar fpar Tl

® Rabindranath Tagore / 1Y AR

® Venkatraman Ramakrishnan / d6exd+ RTHPWTT

e Sir. C.V. Raman / Wgieq A4t 704

® Amartya Sen / 3 A9
Correct Answer :-Sir. C.V. Raman / 951 |14t THT
2)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey ﬂﬁt{
it RT 7T ST wd Frepdl & o § 98 21

Statements: / ©YH:
Some donkeys are thieves. / $& 79 AR g
No politicians are thieves. / ®13  9d1 TR 78} &1

Conclusions: / fAsd:
I. Not all thieves are donkeys / I. 99 IR 7Y 78l g1

II. All thieves are donkeys / II. it IR 1Y %'I
® Only conclusion | follows / Fad ey | FRrerear %
Only conclusion Il foIIows/aﬁFfﬁWEf i e %
Both conclusion I and I foIIows/aT-ﬁ forea | Gﬁ? n fereperd %
None of the conclusion | or Il follows / e grna @ aﬁs‘ﬂﬁﬁm %

()



Correct Answer :-None of the conclusion | or Il follows / fors®td 1 a1 n & ﬁéﬁﬁﬁ?ﬂ g

3)
Question Stimulus :-

Name the rivers that originate in Maikal. / Aora H I g arell Afedl o1 A |
® Narmada and Tapti / THer ofik arwht
® Son and Kayshypa / T 3R =AY
® Narmada and Son /qﬂET 3R =
e Kaveri and Sindhu / BT} 3R ﬁ?ﬂ

Correct Answer :-Narmada and Son / THGT 38X T4

4)
Question Stimulus :-

Who is the author of 'Bindu-Bindu Vichar'? / 'famg-fag far & o o191 32
® Harishankar Parsai / BIRRI®H m
® Atal Bihari Vajpayee / 3Icd et arerudt
® Amrit Rai / 3H{d I
® Makhanlal Chaturvedi / HTETdT aﬁﬁ

Correct Answer :-Atal Bihari Vajpayee / 3cd fagRl qreradt

5)
Question Stimulus :-

What is the full form of IRDA? / TS 3RS T T T AT T &7
® Insurance Regulatory and Development Authority / & fafamre sk fawra wiftrewor
® Information Regulatory and Development Authority / d-T frrame Td faera urfeeor
¢ Information Requirements and Development Authority / AT TARI DT 3R faera urfie o
® Insurance Renewal and Development Authority / ST AdtHRor iG] o it

Correct Answer :-Insurance Regulatory and Development Authority / STHT faferarae 3w fawra
PIbica]
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6)
Question Stimulus :-

If A+B means A is the brother of B, P/Q means p is the sister of Q, X*Y means X is the son of Y What does
P*Q/R+S means? / AfC A+B BT AA & fH A, B HT UTE § TG P/Q &1 3 & fF P, Q T w81 ® wd X*Y
F1 3Ad 2 fF X, Y BT T 8] P*Q/R+S &1 wm 3 82

° SistheauntofP/S,PﬁilFﬂ%

° SisthesisterofP/S,PﬁW%

° SisthenieceofP/S,PE%‘l-l?nﬁﬁ%

° SisthemotherofP/S,PEf"')fﬂ'l?lT%
Correct Answer :-S is the aunt of P / S, P &1 Il @
7)

Question Stimulus :-

Which are the main rivers that flow in Malwa? / HI<Idl s 'CIHT%H 3-1% arat BT T'I'I%TIT I It ??

® (Chambal, Narmada, Parvati / ?ﬁ?l', T-I'l:hT, rddt

® Mabhi, Parvati, Mahanadi / 'Fl'lﬁ', Tﬂﬁ?ﬁ, 'FI?FE&

® Kshipra, Chambal, Parvati / fENT, ?i'él'a, uﬁ?ﬁ

® Chambal, Mahi, Kshipra, Betwa and Parvati / ﬁaﬁ, 'FI'Iﬁ, fE‘NT, aﬂaT G-ﬁ? 'Cﬂé?ﬁ
Correct Answer :-Chambal, Mahi, Kshipra, Betwa and Parvati / Tdd, H'I_Eﬁ, fz‘l'lJIT, Sdar 3R urddt
8)

Question Stimulus :-
If A+B means A is the husband of B, A / B means A is the sister of B, A*B means A is the daughter of B. What does
P+R/Qmeans? / GG A+B &T AT 2 F A, B ST Ul 2 U A/B &1 S & fF A, B ) 957 8 T A*B &7
qf g fF A, B 3 Tt 8] P+R/Q &1 T 31 82

® Qisthesister—in—law ofP / Q, P P Arelt 8
Qis the daughterof P / Q, P @t 'ﬂ’:ﬁ %

® Qisthe niece of P / Q, P'ﬂ?f‘l-l?ﬂ“ﬂ%

Qis the motherof P / Q, P ﬁm?n%

(4)



Correct Answer :-Q s the sister—in —law of P / Q, P @I HTall g

9)
Question Stimulus :-

The capital of Assam is ./ STHH ARG %l

L Guwahati/ﬂﬂ'l?'l'cﬁ
e Dispur / RRAR
* Tezpur / ASIGR
® Silchar / RTeeR
Correct Answer :-Dispur / f3aqR
10)
Question Stimulus :-
A + B means A is the daughter of B / A+B ST a4 ¢ f& A, B &1 Tt @

A - B means A is the husband of B / A-B S dicdd @ f& A, B &1Ufd &

A ° B means A is brother of the 2. / AxB BT A4 & f& A, B &1 HEE

P Q+Rimplies/P " Q+ R®T a4 g
J PisthebrotherofR/P,RW“ﬂg%
. PistheuncleofR/P,RWaﬁlT%
. PisthesonofR/P,Raﬂ'Eﬁ%
J PisthefatherofR/P,RWﬁl—dT%

Correct Answer :-PisthesonofR / P,R BT A %

11)

Question Stimulus :-

“Kesari” was written by / Had) forae grT forar @
e BL Tilak / fivq faa®

® JL Nehru /ﬁ'll?f ﬁ???
(5)



® Bipin Chandra pal / [9fU= @ ura

® MG Ranade /TH S TS
Correct Answer :-BL Tilak / §ivd faa®
12)

Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose the fourth word from the
following options which has a similar kind of relation with the third word. / <1 U H, Ugd & Wl & 9 Wy
Tay 8| Fru fawen o § Dy1 e IR et R 31 & 919 S} UPR &1 HEY §)

CLOUD : RAIN :: WIND: ? / dicd : IR = gdlr: ?
® STORM / T
® WATER / STdT
® FAN/ U™
* THUNDER / HERTSIH
Correct Answer :-STORM / T
13)
Question Stimulus :-

gave the title of ‘Sardar’ to Sardar Vallabhai Patel. / A WER ac—vrmn's‘ U¢d Bl RGR! B IuTf &
R

® Mahatma Gandhi / HelHT ieh

e Jawaharlal Nehru / STATgR ATd g%

® Rabindranath Tagore / Ty MR

® Bhagat Singh / HITd Rig
Correct Answer :-Mahatma Gandhi / HgTeT g
14)

Question Stimulus :-

Following are the three views of a cube. Which of the following options is opposite to the face shown at the right? /

g o & &9 = 2] P 8§ @ o 91 faee gt 3k e T wae & fadia @2

(6)



Correct Answer :-

15)
Question Stimulus :-

Which Indian Prime Minister is credited with the Economic Reforms of 1991? / 1991 & 3Tfi® JUR &1 944 v

IR UTHAT i feam s 82
® Dr Manmohan Singh / SI. gHIeH f¥ig
® Atal Bihari Vajpayee / 3{ccl fasrt a'lTrI'lTQ;
® PV Narasimha Rao / U4l qu }1d
® Charan Singh / TR0l K]

Correct Answer :-PV Narasimha Rao / UTdl HT&F%T 14

16)

Question Stimulus :-

Which of the following can be used to browse Internet? / Ffaddeqar S_CR—'-'}?.' TISH P31 & ﬁ'TQ' 3'\%111'(‘[
a1 I 32

® Google Chrome / T[IT¢T Lot



® Excel / 'Qa"\aﬁ
® Access [ Qﬂ'\ﬁﬂ
® Outlook / 3T3CTP

Correct Answer :-Google Chrome / T[0T 1T

17)

Question Stimulus :-

In a beach, Tina is walking with her children and there she met Samuel and Susan. Samuel introduces Susan to those
children as “this person is the daughter of your mother’s father’s mother and is my sister. How is Samuel and Susan

related to Tina? / T TS ¢ WR, ST 3MMA =i & 1Y I 6! ¢ iR 981 98 AR iR ga= | frehi |
G 39 g &) A A 59 YHR uRRa darar g o g ey gorl 7wl & far # a=fl 9t 3
2 3R W) 9571 B1 Qg ok gaE, 1 & A G&fa &

® Brother, Sister / 'J-I'I'&F, dgd

® Uncle, Aunt / 3(Pd, 3MidY

® Cousin, Aunt / TRRT ‘l-IT&;, 3fidt

® None of These / Eﬁﬁaﬁgqﬁ

Correct Answer :-Uncle, Aunt / 3, 3fidl

18)
Question Stimulus :-

The mother of Rajani is the only daughter of Nitu's father. How Nitu is related to Rajani? / ?TrF'ﬁ CARIGH| 7'ﬂ_<i$

T ot swatdt 3¢t ¥ g T @ F2 el 3
* Sister / dg
® Mother / HIdT
* Aunt / 3fict
* Can't determine / Fuffvd =8 & a@d

Correct Answer :-Mother / HIdI

19)

Question Stimulus :-

(8)



The folklore of Dhola Maru, popular in Nimar oregionated in / R & d Elﬁl?si, ST A ATp-PpTod Bl
e~y agl g3 q

® Rajasthan / ITSIRITA
® Gujarat / T[eIRTd
® Chattisgarh / @—rﬂw
® Madhya Pradesh / T USRT
Correct Answer :-Rajasthan / ITSTRIT
20)
Question Stimulus :-
p + q means p is the son of q; / p+q mwf%% p, qa %Tg’if%
p - q means p is the wife of q; / p-q ®T134S & & p, q B Ul @
P ~ q means p is the brother of q; / pxq 134 & fF p, q FTHE §

p . q means p is the motherofq; / p,q @134 & p, q FI AT E

P = q means p is the sister of q. / p=q ﬁra{ef%ﬁ? p,qaﬁasq%

What does P + R - Q mean? / P + R — Q &1 &1 3 82
e Qisthe fatherof P / Q, Paﬂiﬂ?ﬂ%
e Qisthe motherofP / Q, P &I HIGT 8
® Qisthe brotherof P / Q, PEFT'J-I'Ié%
® Qisthesisterof P / Q, Pﬁﬁ?’[%
Correct Answer :-Qis the fatherof P / Q, P P ITET 8
21)

Question Stimulus :-

If P+Q means P is the son of Q and Q+R means Q is the uncle of R, how P related to R? / ﬂﬁ P+Q &I 3{?1:%% P,
Q T U7 8 Ud Q+R &7 3 3 fF Q, R &1 =man g, P, R A fohy ovg wwifia 82

® PisthesonofR / P,R?ﬂgﬁ%

® PistheuncleofR / P, REF[?II?IT%

©)



e Pisthe brotherof R / P, R T HTS &

® Pisthe cousin ofR / P, R &T TRT ‘H’Ig%
Correct Answer :-Pis the cousinof R / P, R ®T TRT q.rré: %
22)

Question Stimulus :-

The first Indian to reach World No. 1 ranking in women’s doubles tennis is / ufger EELE < d ﬁ'-‘!'lﬁl'w 1

T W ugeA ATl yRAa §
® Sania Mirza / TIT ﬁﬁff
® Ankita Raina / 3fpdT 31
® Nirupama Mankad / freuar Hibs
 Rushmi Chakravarthi / {9 aspardf

Correct Answer :-Sania Mirza / ITf=raT firsit

23)
Question Stimulus :-

Who among the following is authorised to declare elections of the Lok Sabha? / Ffadd

TP TR Wi WHT ATE] B G0N S BT ATYPR ghar 22
® President / WgQﬁf
® Prime Minister / WTFHAT
e Union Cabinet /Y $faHc
® Election Commissioner / gTd T

Correct Answer :-President / ITgUfd

24)

Question Stimulus :-

Choose the CORRECT pair / &l Wi &I gHT
® Chachai - Mahi / T3 — HTS!
® Keoti - Bihand / FId} - fag<

(10)



* 0dda - Chambal / 31T - daqa

® Apsara - Panchmarhi / 3{GHRT — Wﬂ'&
Correct Answer :-Apsara - Panchmarhi / 3GHRT — GGl
25)

Question Stimulus :-

Which mathematician made the approximation of ‘pi'? / ‘UIS' dfd®ed @I fog oy 3 s9 =
Yr?

® Bhaskara I/ HT¥P I

Shankarnarayana/ PR 0]

Aryabhatta/ 3t HS
Nilakantha/ STl

Correct Answer :-Aryabhatta/ 3TIYg

26)

Question Stimulus :-

Which city hosts the ‘Simhastha Kumbh’? / fou LIRS 3 “ﬁ:lgw PR 3| ﬁ'\?l'aT:ﬁ @t 412

® Indore / E'ca?

* Ujjain / S

® Bhojpur / 'l-ﬁﬁ'ﬂ?
® Orchha / 3T

Correct Answer :-Ujjain / 3%

27)
Question Stimulus :-

In a special lecture series assignment, three teams of professors are to be made. Each team
will consist of two of the professors - G, H, I, K, L, M. Each professor will be on exactly one
team. Each team is assigned to exactly one of the three seminar halls in the university: Hall
1, Hall 2, and Hall 3. Professors I, L, M have specialization in Economics while G, H, and K
do not have it. G,H and I each have been with the university for at least three years while
K, L, M have not been so. While assigning duties the following conditions are to be
observed.

(11)



Each team must include at least one specialist in Economics.

Each team must include at least one professor who has been with the university for at least
three years.

Professor G must take his lecture either in Seminar hall 1 or Seminar hall 2.

/

wﬁﬁwmﬁwmﬁﬁ,uﬁmﬁﬁ%ﬂqaﬁaﬂ:ﬂﬁmﬁnﬁﬁﬁﬁﬂmaﬁ G, H,
I, KL M|mmmwmﬁaﬂmmaﬁmwﬂqwm gid 1, 814 2,
eﬁvmsﬁﬁwﬂawaﬁmm|ml L, M ¥ U dunea # fafRrdieor g safe G,H,Gﬁ?K
% U IE1 g GH%IW@W%W&W@W%H@Y@@%@%WK L, M & IS 8¢ ?]
STl B Hiud gH, e aRfRufaal g e 7]

Ta® 9 # AT &1 FH A $H TP fAQvgy e g1 il

%aawmﬁmﬁmwﬁwmﬁmmﬁﬁﬁmﬁw%mumﬁm?ﬁqﬁﬁwgm
|

MBIR G 3T AT FHHR 81 1 g1 AHR 8T 2 § 9

Which of the following could be M's partner? / g # & M &1 arfl @19 g 9Far 22
® LandK / L 3fiRK
* GandH / G 3R H
° L
° G
Correct Answer :-GandH / G 3R H

28)
Question Stimulus :-

Which Article deals with the special status given to Jammu & Kashmir? / CaE k| 3@3 W—W 3! faxiy
auil 4T &9 &1 &1 T 82

e Article 356 / 3TE5G 356
* Article 368 / 350G 368
* Article 372 / 315G 372
* Article 370 / 355G 370

(12)



Correct Answer :-Article 370 / 35 370

29)
Question Stimulus :-

The Arjuna Awards were instituted in the year / Glﬁq YRIPIY CalGL] - T Twriie foear T o
® 1965
® 1963
® 1961
® 1957
Correct Answer :-1961
30)

Question Stimulus :-

Five members A,B,C,D, and E of a family read a religious book in a definite order;
¢ First C gave to D after reading the religious Book
o After D, A read who was just previous reader to E

e B is the last member to read

Who were the first and last readers of the religious book? / T® UReR & U= Jd¢H A,B,C,D, Td
E To fffa %9 § vo ufife e ued &

« UEd C 7 at uifife g Tgn & 91g D &1 &
e D% TG, AT TGS fF E A St o ues o1
o B JaH 3ifay T ORI el

I Ui TXad &1 Ug ard U4¥ T4 Sifay ures o 4?2

® CandA/CTd A
® EandB/ EUWdB
® CandB/CTUdB
® DandB/ DTd B

Correct Answer :-CandB / CTd B

(13)



31)
Question Stimulus :-

In the class of 40 students if Sanju is at the 30th place from one end what is his position from the other end? / 40

BT B TP F&m | i U9 T R A 307 WM W 7, g RR A ITST I 182
o 9th/93"r
o 12th /127
o 10t /107
o nth/ 11
Correct Answer :-11" / 11T

32)
Question Stimulus :-

Vitamin C is also known as . / e <t _%W?qﬁ ft ST ST 21
® Nitric acid / :I'I_E'[EEF ST
® Phosphoric acid / IEhIYH 3
® Boric acid / F¥®H 3T

® Ascorbic acid / Q"\Wﬁﬁfﬁ 3+

Correct Answer :-Ascorbic acid / TERITI® ¥

33)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe gﬁq,\‘rﬁ qTP B €f§ ﬁ
R wHFAFT I :

If I am your sister’s son, then | am your nephew. | am not your sister’s son. / ?T% H sl dgd Pl e §\”, a9 7
STYHT U 1 § MU T81 &1 deT -1 §

® |f | am your nephew, then | am your sister’s son. / 'Clﬁ H 3MUPpT HlTor §", a9 8§ Ut CERICd] G| 'gl
® |am your nephew. / H 3TUPHT M TSIl §’|

® | am not your nephew. / # 3T HelSIr 7-I'(& ﬁl

None of the above is warranted. / $UR 7 9 feddt &t ff TR=H qﬁ %I

(14)



Correct Answer :-None of the above is warranted. / $UX o 9 fedt &t ff TR0 T'Iﬁ %l

34)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fove ?{ﬁE
St faT T AT wd el & I o 98 g1

Statements: / ©Y:
Some chicken are not oranges. / $© RI&= AR 781 €1

All chicken are donkeys. / gt e e %'l

Conclusions: / fAwod:
I. Some donkeys are not oranges. / I. & T8 A T8l 81

I1. All donkeys are chicken. / II. 93 79 = g1

® Only conclusion | follows / Wﬁw& | Fradar %

® Only conclusion Il follows /Wﬁ'ﬁﬂf Il Freadr %

® Both conclusionland Il foIIows/fFﬁ ﬁl’ﬁb"sf | G-ﬁ? 1l ﬁl'cb—(’lﬁ %

® None of the conclusion | or Il follows / e iaruda Hﬁ%qﬁﬁﬁ?ﬂ %
Correct Answer :-Only conclusion | follows / Fad e | fFreeadar %

35)
Question Stimulus :-

Who founded the city of Amritsar? / SdER TR @ RITGAT fra & H»
® Guru Ramdas /¥ IMHQMH
® Guru Amardas / = HI QT

® Guru Arjun Dev /[ \?rﬁjq aa
® Guru Nanak / 3= ATH®

Correct Answer :-Guru Ramdas / 3= ITHGH

36)

(15)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu gﬁrq,\‘:ﬁ ad @t %1@' @'
4 fou T $Y= & THH g:

If you are her brother then I will forgive you. / gfe Mg ITP ‘3-I'I'§ % a9 # 3TUD! HIE PR §"11|

® [f you are not her brother then I will not forgive you. / ?T% 3y ITH ‘l-l'l's; Qﬁ % dd ﬁ 3T ATE 71?1
B

® |f you are not her brother then you can make a mistake. / gfe 3my ISP 'J-I'Ié =|€f % a9 3T et P
I5d gl

® |f I do not forgive then you are not her brother. / 'Clﬁ." # 91% T'Iﬁ B dd 3T IAD ‘J-I'I'sf 7'|'Eﬁ %:I
® Every brother is nice person. / ¥ Uh ‘l-l'lg 3T EWFI' @T‘IT %I
Correct Answer :-if I do not forgive then you are not her brother. / gfe # °1% 8l B a9 31U TP
uTS el ¥
37)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe gﬁl’({,\_rﬁ ad @t ?@' @'
TRRTTTHFYT S TAHF T :

All big stars are flaming balls of gas. The sun is a flaming ball of gas. / Tt a@( TR T P STead §€ iﬁ' %:l Q:[Ef
I $ Jad! g3 g 2l

® Thesun isabigstar/ﬂ?ﬁfa_{;ﬂa'm%
® All big stars are suns / It a% GIEd ﬁif %
® The sunis asmallstar / '\‘I‘f Jrel dRT %
® None of the above is warranted. / %UY o '\ﬁ foredt &t ot TR qﬁ %I
Correct Answer :-None of the above is warranted. / 3UR o I fedt &1 off TR=h =|€f %I

38)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ fawe ﬂﬁT{
it 3T T Hu=Y ud el & av § 9 2

Statements: / ®Y:

No lemons are rat. / &I H1g Ig 78I 81

(16)



No jackals are lemon / ﬂ'ﬁ? ﬁﬂiﬂ?:ﬁiqﬁél
Conclusions: / e

I. All jackals are rat. / I. 99 RER 7@ g1
II. Some lemon are rat. / II. 3 A1g T8 T

® Only conclusion | follows / Faa ey | fRreeear %
® Only conclusion I foIIows/WﬁW‘f i fereeran %
® Both conclusionland Il follows/?a:ﬁ ﬁlﬁﬂf | GﬁT Il ﬁlﬁ?f %
® None of the conclusion | or Il follows / ATk E: 'ﬂﬁé?ﬁﬁﬁ'ﬁm %
Correct Answer :-None of the conclusion | or Il follows / frsed g 0 & q Efﬁ'&‘ﬂ'(ﬂﬁﬁ'ﬂ %

39)

Question Stimulus :-

Pointing to a photograph, Vinay said, “She is the daughter of my grandfather’s only son.” How is Vinay related to the
girl in the photograph? / Wﬁ'\‘ﬁ"\"ﬂ’ﬁ Gﬁ?mﬂﬂﬁﬁm ﬁﬂﬂﬁﬁ, “a’g’ﬁ%m%%ﬂﬁﬁﬁ@%ﬂ%aﬁ
31" fora ok a1l asa! @ $9 &t 72

® Father / far

® Cousin / TRT ﬂ-ﬂg

® Brother / Q-I'I"j

® Datainadequate / YT STl
Correct Answer :-Brother / HTS
40)

Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose the fourth word from the
following options which has a similar kind of relation with the third word. / o uy ﬁ, T-l?ﬁ a Q]E:‘f & = Ny
oy 7| o faweat & T @i 3es g~ e W 3 & 91y 3 UeR @1 99Y 7]

FLOWER : PETAL :: BOOK : ? / Bd : UGSl :: T&P : ?
* LEAF / U=l
® COVER/ PdX

® PAGE/ UdT
(17)



® WORD / G

Correct Answer :-PAGE / TAT

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-
Complete the series choosing the missing number: / QW IBAT DR 4GAT BI GRT HIfoQ :

1, 64, 343, 1000, _

® 6391

* 2197

® 4739

° None/aﬁgﬂﬁ
Correct Answer :-2197
2)

Question Stimulus :-

A train 175 m long running with a speed of 63 km/hr will pass a man in/ 63 it/ ger o 7fa |

T aqTel TP o, fhaq Ta § U et # UR St ?
* 10sec/ 10 AHS
* 12sec/ 12 HHS
* 8sec/ 8BS
e Gsec/ AHS
Correct Answer :-10 sec/ 10 &S
3)

Question Stimulus :-

In a certain code, 5268 is the code for DMPN and 13479 is the code for AQFJL. What does
396824 represent in the code? / ffl W ®is #, DMPN & i@ ®ie 5268 % 3R AQFIL & o
PIS 13479 8| SHPIS H 396824 T Sidl &2

® QLPNMF

® QLPNDF
(18)



® QLPNKJ

® QLPMNF

Correct Answer :-QLPNMF
4)

Question Stimulus :-

If x is 120% of y, then what percent of 2x is y?/ 'Clﬁ X, y Pl 120% %, ?ﬁ 2x BT fha-1 ufa=rea y % ?

3
« 41:9%

* 413%

Correct Answer :-41 3%

5)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / & & T8 g &Rl T TSN BT SIHH WANT HRdl 8| Tad Ao ygar-d|

(i) NQN678MM9

(ii) NQN578MM9
(iii) NQN678MM9
(iv) NQN678MM9

Correct Answer :-ii

(19)



6)
Question Stimulus :-

The rain coat was marked price of 250 & was sold at 225. What is its discount? / W'@I’[ﬁ'ﬂﬁ?iﬂaﬂﬂﬁ
250 fafga @ T 4t 3iik 225 & 99 < Wi f| sTB) e ®TR?

* 1%

* 8%

® 9%

®* 10%
Correct Answer :-10%
7)
Question Stimulus :-

A train speeds post a pole in 15sec and a platform 180m long in 25sec. Its length is/ Td 27'[13,3? T P 15 GhS MR

180 HIeT T WewTH Bl 25 YHS A UR Hd! 2 ISTP! A TS ©
* 210 m/ 210 H}
e 230m/ 230 H}
 250m/ 250 ¥
® 270 m/ 270 HY
Correct Answer :-270 m/ 270 Ht
8)

Question Stimulus :-

A person buys goods for Rs. 6000. He gets a discount of 10% and pays sales tax 6%. Find the amount he will have to pay

for the goods?/ T AT ¥ 6000 TUY H aq¥ T | 3 10% B Fe Firelt 3R 39 6% et w2 gavran | J1a
o+ b IR aeg il & forw fopa=it <=t &1 giite

® Rs.5740/ 5740 ¥UT
® Rs. 5780/ 5780 ¥UT
® Rs. 5700/ 5700 ¥UT

® Rs.5760/ 5760 ¥UQ

(20)



Correct Answer :-Rs. 5760/ 5760 ¥UQ

9)
Question Stimulus :-

In a certain code language, lik lomb lyns means that great poet; vomb lomb fomb means god is great. Which is
the word for lomb in that code language? / Tt @ PIS YT H, lik lomb lyns ST 7G9S & that great poet;
vomb lomb fomb &1 Haad & god is great| St BIE YT & Jomb & ﬁ‘l’Q HT RMeg %?

® that

® poet

* god

® great
Correct Answer :-great
10)
Question Stimulus :-

If 3:m::m:27, then what is the value of m? / ‘Cr%3:m::m:27,?ﬁm$rmﬂ'l=r%?
e 12
e 10
o 7
9
Correct Answer :-9
11)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 79 33 T IR uai & @ T o T 1@ & Stp 99 H S 91 TP T8 82

Labour Surgery

Mar 6, 2010

Crowndale Centre, Eversholt Street NW1
11:00 AM - 12:30 PM

(21)



(i) Labour Surgery

Mar 6, 2010

Crowndale Centre, Eversholt Street NW1
11:00 AM - 12:30 PM

(ii) Labour Surgery

Mar 6, 2010

Crowndale Center, Evershot Street NW1
11:00 AM - 12:30 PM

(iii) Labour Surgery

Mar 6, 2010

Crowndale Centre, Eversholt Street NW1
11:00 AM - 12:30 PM

(iv) Labour Surgery

Mar 6, 2010

Crowndale Centre, Eversholt Street NW1
11:00 AM - 12:30 PM

o i

e i
e fii
° iv

Correct Answer :-ii

12)
Question Stimulus :-

What is the average of 1, 2,3,4,5 and 6? / 1,2,3,4,5 3R 6 &1 3fi4d &7 82
* 735
° 73
* 745
° 74
Correct Answer :-73.5
13)

Question Stimulus :-

(22)



In the following qyesti_on, one term in the number series is wrong. Find out the wrong
term. / 99 Uy ¥, 9= 491 # TP UG TAd §| TAd Ug §id BIoA| 12,32,72,142,212,312

° 72

e 212

e 142

® 312
Correct Answer :-142
14)

Question Stimulus :-

The sum of two numbers js 30_and the difference is 8 What is i;hg value.of the larger
number of the two? / & T&3N &7 ANT 30 g 3R ITHT 3R 8 g1 el A A ! T &1 A FT 32

e 19
e 15
e 11
e 10
Correct Answer :-19

15)
Question Stimulus :-

In a code, MONKEY written as XDJMNL. How is TIGER written in that code? / U &I H, MONKEY ®1 xDJmnL for@d €1

I B A TIGER BT B fardi?
e SDFHS
® UJHFS
® SHFDQ
® QDFHS
Correct Answer :-QDFHS
16)
Question Stimulus :-

(23)



How many triangles are there in the following figure? / G| Gﬂ?ﬁl ¥ feaq et %?

e 12

e 8

e 10

e 6
Correct Answer :-12
17)
Question Stimulus :-

1§ 15¢,, = 15¢,,5 then r =2 / Tf 15¢; =15 ,; Al r=2

Correct Answer :-3

18)
Question Stimulus :-
What will be the next term in the series? / 4@l H SFTAT UG T §RIT?

YEP, XFQ, WGR, VHS,

* uIT

(24)



e TT

® UIT

® uly
Correct Answer :-UIT
19)

Question Stimulus :-

Six Mangoes are brought at 3 for Rs. 2 & sold at 2 for Rs. 3. Find cost price of 6 Mangoes & selling price
of 6 Mangoes? / D% 3T RIS ©1d &, 3 3MTH 2 TUT & 3R 2 3T P 3 TUC | 99 11 8| BF 3MMHI B AR
Ul 3R o) g &7 uar S|

® Rs. 5,10 /¥U¢ 5,10

® Rs.5,10 /%44 5,10

® Rs. 3,8/3FUU 3,8

® Rs.2,7/3%UUY 2,7
Correct Answer :-Rs. 5,10 / ¥4€ 5,10
20)
Question Stimulus :-

In a certain code language COLUMN is coded as DPMVNO then in that language BRACKET
is coded as: / 53 @™ Fikfdw HWT #, COLUMN &I DPMVNO ¥ ifsd far sirar € af 39 ymar &
BRACKET &I B9 ®ifsd foar simam:

® (CSBDJFU

® CSBDLFU

® CSBDLFV

® (CSBDLFS
Correct Answer :-CSBDLFU
21)
Question Stimulus :-

Complete the series choosing the missing number: / AW IWAT DR SGaT B TR HIOT :

11,13,17, 19, ; 25, 29
(25)



e 23
e 20
e 16
e 25
Correct Answer :-23

22)
Question Stimulus :-

233x2-500+49x8-{704/4+12}=?
® 170
® 180
® 160
® 150
Correct Answer :-170
23)

Question Stimulus :-

Complete the following sequence of figures. / Gﬂ?ﬁ'q}[ & g pa Bt T B

il = il =

(26)



1
[
[

Correct Answer :-

24)

Question Stimulus :-

1 1

2 2 2 .1 1 2
1_+2_+1_ of 1 = -= = +1_ of 1 = -=
6 5 4 13 3 76 5 3 13
Syl o2l il Sx2oql fz——1l+21
6 2 1303 '3 6 2 130 °%
Simplify: / TE Hifog:
7
.o 17
° 31—
7
ca U

(27)



=

Correct Answer :-2

25)
Question Stimulus :-
Complete the series choosing the missing letter/s: / fAqW &R TAH FTaT B R HIFOT :
ab_dc_aba _ _dc_ab
® cdbcd
® cbhdcd
® beded
® dccbd
Correct Answer :-cdbcd
26)
Question Stimulus :-
In a certain code language, dim dam dolpet means fish is tasty; brim crim dim means very tasty food. Which is
the word for dim in that code language? / <t @ Pis yw ﬁ, dim dam dolpet &1 Adad § fish is tasty; brim
crim dim &1 Adad § very tasty food | 33t BIs U H dim & ﬁl’E RIT Aot %?
® tasty
e food
e fish
® is
Correct Answer :-tasty
27)
Question Stimulus :-

In a class, 25% of the students selected English, 20%, selected Hindi and 10% selected
both as electives. If a student is sel_ected at ra|_1dop1, what is the probability that he selected
either English or Hindi? / T ®&1H, 25% BEI 9 3RS &1 999 fFar &, 20% = & &1 9g= fFan

(28)



2, 10% A T5® & ¥ A SHl &1 99+ fFa1 81 T B AR < A A1 911 8, 1 JUET © 5 39
1 @) 3l a1 fE S &1 Tae fPar 82

® 9/20

1/2

7/20

1/4
Correct Answer :-7/20
28)

Question Stimulus :-

The value of 3x+5y=200, 3x-5y=100 is / 3x+5y=200, 3x-5y=100 &1 A9 8
e 40,10
e 50,10
1,1
e 1,0
Correct Answer :-50,10
29)

Question Stimulus :-

A tap can fill a tank in 8 hrs. After half the tank is filled, three more similar taps are opened. What is the
total time taken to fill the tank completely? / T <l Uh ¢F P 8 el H WR TPl %I 3P & YT WA &
YT, 3R T FEE Tl BT GG DR T ST 81 IF B T e A UA ° $a fhaen awyg @

e 5hrs / 54c

® 6hrs / 6 4c

® 4hrs/ 4%

® 3hrs/ 34c
Correct Answer :-5hrs / 5 8¢
30)

Question Stimulus :-

(29)



The average age of the 27 girls in a class is 13. The teacher is 41 years old. What is the average age including the teacher? /

T P& H 27 Al @1 3N9d 39 13 B| e #1349 41 79 2| R Iieqd shaa 39 w182
o 27
e 14
e 20
e 34
Correct Answer :-14

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

&
The rational number —16 / U@y I 16

e has either a positive numerator or a negative numerator / § 91 9t T Y-THS 32 IT TH
BUTAS 3 1

®* has a negative numerator / " TP BUMTHD 3 %I

® has neither a positive numerator nor a negative numerator / =i | ?ﬁQTﬁ YTHSD 3 % Tq
9 € TP BUTS 30 B

e has a positive numerator / § Th YATHSD 3 |

Correct Answer :-has either a positive numerator or a negative numerator / Haral Th
YFTHS 33T IT TPH BUNHS 3 B

2)
Question Stimulus :-

Choose the correct device and what it measures. /'\‘I‘(ﬁ SUBRUT T4 98 fea®T ATuT SH=ar %, Tgq B
® QOdometer: speed of the vehicle. / ansiHer : qT8 @I Td
® Speedometer: distance travelled. / TfrsiHier a9 & Wi g‘ﬂ
® Odometer: distance travelled. / 3TSTHIER : T WY TR §'\ﬁ
e Speedometer: time for which the vehicle runs. / TiiEiHier : 96T & Ie HT T

Correct Answer :-Odometer: distance travelled. / aneiHter . au &t Wit g\ﬁ

(30)



3)
Question Stimulus :-

Find the square of 1299. / 1299 &I it ﬁﬁlﬁﬁl
® 1585301
® 1684701
® 1685401
® 1687401
Correct Answer :-1687401
4)

Question Stimulus :-

If A’s salary is 24% less than B’s salary, by how much percent is B’s salary more than A’s? / Tlﬁ' ABIAdT B & da9 A

24% HU g, B F1da-T A F Ja A a1 %o 4w g2
* 6/19
® 24/16
® 42/76
* 12/36

Correct Answer :-6/19

5)

Question Stimulus :-

The locus of a point equidistant from 2 parallel lines ‘I’ and ‘m’ is ./ & qHiaR s M ‘m’ A IHE
o R Ry« fig &1 faguy 2l

® astraight line perpendicular to both ‘¥ and ‘m’ / ‘I’ 3R ‘m’ aﬁ & g il W@

® astraight line lying midway between ‘I’ and ‘m’ and parallel to both ‘I’ and ‘m’ / ‘I’ MR ' & A Ry W Y@
S & v am SFT & FHIMR §

® astraight line passing through ‘I’ and ‘m’ making an angle of 60° with them / ‘I’ 3T ‘m’ | 60° BT IV ST Y

I TR aral el ¥
® acircle which has 2 secants ‘I’ and ‘m’ / 9d e a m (Hﬁﬁ?ﬂ) 1Td‘m’ %

(31)



Correct Answer :-a straight line lying midway between ‘I’ and ‘m’ and parallel to both ‘I’ and ‘m’ / ‘I Gﬁ? ‘m P

weg fua Wit Y s {5 o+ 9 v 1 & iR @
6)
Question Stimulus :-
Few drops of oil are poured on the hinges of doors so as to / 8 @1 TS §d aaTel & Pool A FHAT STad &
e reduce efficiency of the hinges / H ®1 G&idl Bl HH B & T
® increase friction of the hinges / sl & UYUT &I Fg & forg
® make friction disappear totally / THUT @Y Juf U § TH F1 & o
e reduce friction & to increase its efficiency / THUT B HH HIA T TTH! G&T B 98 P g

Correct Answer :-reduce friction & to increase its efficiency / THUT B HH HI1 TJ ITP! &l DI g
¥ o

7)
Question Stimulus :-

If 15% of x is the same as 20 % of y, then x : y is: / Igie x BT 15%, y% 20% %W%, dd x : y%:

® 17:16

e 16:17

® 3:4.
Correct Answer :-4:3
8)
Question Stimulus :-

Use the following graph to answer the question. The graph gives customer complaints
received in a remote holiday Resort for the month of May. / ¥ & 3w ¢4 & forw 9 e 7w
UTE BT T B3| ITE faredt gred giehts Raré & g & 7 & v vt &t Rrema gxifar g1
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Cestomer Complaimts

AN

ca3aENEN

Which of the following items has received highest number of complaints? / E:I'ﬁ JfFPa s ﬁ‘l’({ T WIel Remd
T 8% 82

e Accomodation / SI[dM¥

* Food / @r 1

e Entertainment / HARSH

L Climate/qﬂh@T
Correct Answer :-Climate / 99TaR0l
9)

Question Stimulus :-

The volume of a right-circular ;ﬁl_{mder of radlus ‘r" and height ‘h’ is cubic units.

/ &9 g da et B v SATE ‘h’ B, SPT g U4 3PS ol

R

[ ]

2arh
[ ]

T, . )

2mh+ 2me
[ ]

m‘_"
[ ]

(33)



(%]
=t

Correct Answer :-

10)
Question Stimulus :-

If sin(A + B) = 1 and cos(A - B) = 1, find A and B. / “Clﬁ‘sin(A +B)=1Tdcos(A-B) =1,
A TG B J1d B

* A=90°%B=0°

* A=60°B=30°

e A=30°%B=60°

® A=45°B=45°
Correct Answer :-A =45° B =45°
11)

Question Stimulus :-

Yeasts & moulds are examples of / wHiR 3R Th_w gﬂa; 3alex Ul %
® Bacteria / CEIRe )
® Fungi/ ddh
® Algae/ ared
® Protozoa / WGIGIIS3M

Correct Answer :-Fungi / Pddh

12)
Question Stimulus :-

Poornima’s ring had got stuck on her ﬁnger. So she applied some oil on her finger. The ring could be removed easily
because / fOTAT F SRS ITBT Irell A 3resp MY 7| AT IHA ST St W AST a7 TIT| 3T
ST Xear | fHera o STl ®ife

® QOil reduces friction /aﬁ ‘a’ﬁfuT &I BH X3 aT'IT %

® Qil increases friction /?I?[ qyor &I del a?IT %

® il has nothing to do with friction /a9 P gYoT aﬂs‘ T T8 8

(34)



® Skin becomes oily / <ddT deig B-T STt %
Correct Answer :-0il reduces friction / oo g1 B P P adar %

13)

Question Stimulus :-

Why do frogs, fishes etc lay thousands of eggs? /ﬁ%ﬁ?, uoteai 3fe g9 Rl ofe ol gl %?

e Only a few get a chance for fertilization and survival / $ad@ $3 ® 8= iR srfasifaar
BT HIpT YT BiaT @

® To provide food for other animals / 3I<d EIECREI RS ﬁ?ﬂﬁ' * 1%11:
® Parents eat the excess eggs for nourishment / Sifafvaa 3 wrar fuar Tiwor & ]%IE EGIG] %

® To produce many young ones /T:F&F T BT UG FHA & forw

Correct Answer :-Only a few get a chance for fertilization and survival / $9d $© &I

e ok sifeshifdar o1 Wit urw giar @

14)
Question Stimulus :-

Salted and dried fish stay longer without spoiling. Give reason / TS 3R '\ﬂ@ I dd U d& foAT
R gU Ve Tl g1 PRI EGIEN

Salt kill bacteria and prevent spoilage / -TH® GﬂﬂTUI P Y Al % 3T WIS B 9 JApar %’

Sunlight kill microbes and salt adds taste / '\‘I& DT UBTRT J&H il @ Y BT 8 3R 0P WG deldl

g

Salt removes water from cells and sunlight makes it dry / -TH® HieTsi § I gt EGH % 3R ﬂé Cal
TIN5 G&TdT @

Salt cover the fish and sunlight cooks it naturally / TH® TSB! BT SATRUT HdT § 3R JH BT U 39

Upiae a¥id | TSIl §

Correct Answer :-Salt removes water from cells and sunlight makes it dry / TH® PRI § | U
geTdT 3 3R I &1 YT 31 JW&TaT 8

15)
Question Stimulus :-

There are two circles both of radius 5 cm, one with centre (0, 0) and the other one with center (1, 5). The area of both

the circle are in the ratio / & ga foFat e 5 A ], o8t &1 b5 (0,0) AU gAX BT I
(1,5) 81 &Il gal & &wd BI JuTd gl

(35)



Correct Answer :-1:1

16)
Question Stimulus :-

Clarified water in waste water treatment refers to water / Hﬂﬁ'-'a'q S L EIRS ;| a9 q old iﬁ_v{ T oidd
Tefta oear 82

® After removal of sludge and floatable solids / 3MYe 3T d3d Y IR 'CIT{[?ﬁ &I Eﬂﬁ & EIG)
 Without floatable solids / TS dva a1 uerf aran

® After removal of grit and sand / R sk Wﬁ E?ﬁ *® qYTd

® With chlorine tablets / FARIA dgeie & 91y arel

Correct Answer :-After removal of sludge and floatable solids / 3TUD 3R avd Y k| W'ﬂ‘ﬁ &I Eflef
& uyTd

17)
Question Stimulus :-

Use the following graph to answer the question. The graph shows distance covered by Ajay

in 7 hours. / Ul & S<R ¢4 & T i AT T IT% FT 7T B UTE 361G §RT 7 U | a9 P Tg gol
P Ueifa & g1
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Distance covered in 6 hours

%
30 f————‘_”
= 2
"
& 15 "
-
5 10
5

Time in hows

What is the average speed of Ajay? / 3ISTd &I Gﬁ'\‘:l?l' Tfa fea=t %?
* 6 kms per hour / 6 f&H! ufd ger
e 7 kms per hour / 7 & ufa ger
e 5.3 Kms per hour / 5.3 f&#t ufa ger
® 32 kms per hour / 32 foest ufer et
Correct Answer :-5.3 Kms per hour / 5.3 f&#l ufd ger
18)

Question Stimulus :-

Use the following graph to answer the question. The graph gives customer complaints
received in a remote holiday Resort for the month of May. / ¥ & 3w ¢4 & forw 9 R 7w
UTE BT TART B | A6 5l ey giehis Rard & w3 & wdiA & v Suniaanail &1 Rera gifar 31

Customer C omplaists

L1

25 ]

04

pa g

20| RS

5| R

0] B8

::::'

o —

Accomodalison Food Sensce: Facilies Enlotainmen] Choalde

What is the number of complaints received with regard to ‘Food’? /Eﬁ & Tay § U Rreradl &t |9E %?

e 32
(37)



28
18

37

Correct Answer :-32

19)

Question Stimulus :-

Which type of soil is best suited for cultivation? / T & foIT fFd YR &t gar oA Iugad ghft?

Sandy soil / T3 JaT
Clayey soil / HUHT Hal
Loamy soil /§F|7:?f Hal

Silt / T

Correct Answer :-Loamy soil / GH¢! JaT

20)

Question Stimulus :-

Use the following graph to answer the question. The graph gives customer
complaints received in a remote holiday Resort for the month of May. / U4 &

I ¢ & g e AT T U1w &7 TR S35 I fhedl grY giaits Raic & U & 984 | urad
Surigare @1 Rrema gifdar 21

Cestomer C omsplaints

oo ¥NEYS

o

Accomodalion  Food Sandre: Faclitrs Endolssmnenl  Chmalde

What is the total number of complaints received as a percentage of total complaints with regard to ‘Services’? / Tar

¥F e urw Rremdl $ o Ien Fa Rrerdl BT fear ufawra 82

129%
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e 15 %

e 8%

e 22%
Correct Answer :-8%
21)

Question Stimulus :-

A man wants to push a crate over a cemented floor. To move the crate using less force, he
has to / T 3l TH HHfed a6 UR TP e P UTFH] AT I18dT &1 $H 96 BT UGN HRP he B
RFTART $3 & fag, 39

® place the crate on the wheels /aﬁ' @I q'l%'!ﬁ U 9T Bﬁ'frr

® apply oil on its surface /Wﬁ% Hdg R o T '6-1"'”

® jncrease the area of contact /'\‘TCI* ?;‘]_?T @l del-l EﬁTIT

® ask a friend to push from the other side / 3= i &t §'\"-|'\ﬂ' 3R A YFHT aﬁ | m LEEL EﬁTIT
Correct Answer :-place the crate on the wheels /W @I ufgal UT G g

22)

Question Stimulus :-

Which among the following is used as a magnifying glass? / o o & g v smade o= & U # foan
Tl 82

® Convex lens / 3Ud g

® Concave mirror / 3ddd ?{C‘:UT
® Concave lens / 3[ddd A=

® Convex mirror / 3Ud ?{&UT

Correct Answer :~Convex lens / 3dd o

23)

Question Stimulus :-

Breakdown of food in the cell to release energy is /Gw_\rl'f Ie{ & m HIRBT A W b1 geHrl '%
e Inhalation / U¥dH

(39)



e Exhalation / 39ddd
® Cellular respiration / BB qa4
® External respiration / ITel Y-
Correct Answer :-Cellular respiration / PHGIT YTT

24)
Question Stimulus :-
Use the following graph to answer the question. The graph shows distance covered by Ajay

in 7 hours. / Ul & SR ¢4 & frg R f}T 71T I1% &1 7T 31 UTE 3o1d gRT 7 6 | a7 P g gol
o1 uefRia war g1

Dstance covered in 6 hours

What is the distance covered by Ajay between 1 pm and 4 pm? / 3ISTd IR Ea'cl'tﬂ' 199 Q_Q' aﬁw 499 & A=
frait gt au &1 TE?

* 15 kms / 15 fot
e 22kms /22 fotdt
e 12kms /12 fo#
* 32kms / 32 fodl
Correct Answer :-15 kms / 15

25)

Question Stimulus :-

(40)



A girl stands 2 m away from a plane mirror. How far is the image from where she stands? / T® Fl?ﬂﬁ qJHdd

U § 2 Hiex B gt W WS 31 Ot 5l Wl § T§1 ° S B fpait git W &2
e 2 m /ZIﬂT\'
e 4 m /4HIR
el m /1fﬂ2'\’
¢« 6 m /6HX
Correct Answer :-4 m / 44X

26)

Question Stimulus :-

log. 27 Ilog3 27
Evaluate T /I BT :
°* 4
1
* 3
® 9

Correct Answer :-3

27)
Question Stimulus :-

Loudness of sound coming from normal breathing is / ITHT a1 ﬁ Eﬁﬁ' arelt tafe &t ygadr %
® 80 decibels / 80 sREa
® 60 decibels / 60 shred
® 30 decibels /30 Shaew
® 10 decibels/ 10 SREa
Correct Answer :-10 decibels / 10 ST

28)

Question Stimulus :-

(41)



Increased concentration of Carbon dioxide in the atmosphere leads to / dIdlaRUT H ST
SRIITRIEE & 9¢ §Y WigU ¥ Boa=U gidl ¢

® Deforestation /HT'ﬁ:ll?I:[I
® Breathing problems like Asthma. / Y P TR S ST
e Presence of Carbon particles in the atmosphere. / 9IdGRUT § ST HUN $1 ST
® Global warming. / ﬁm GILEZ Q@I
Correct Answer :-Global warming. / fayeamdt arussd gfes|

29)
Question Stimulus :-

Find the diameter of the circle, which has a perimeter of 88 cm. / 3 qd I ATH JTd aé’rﬁaq, ST ufvwTg 88
It 31

e 28 cm/ 28 JHI

. M7 cm / wd it

L 6cm/6@'¥ﬁ

e 14cm /1497
Correct Answer :-28 cm/ 28 I
30)
Question Stimulus :-

In plants water is transported through /q'l_c."tﬁ H S BT SATARTHA 3'\"-@3 gkl Eﬂ_clT %
* Xylem [/ SlIg&H
®* Root hair / qd A9
® Phloem / TITH

® Stomata/ Y

Correct Answer :-Xylem / SIgaH
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